ERRATA for Text—February 2, 2007
Introduction to Management Science with Spreadsheets
Stevenson/Ozgur
	Page
	Location
	Currently
	Should be

	43
	Last paragraph
	1/m
	1/n

	129
	Table 3-4, last line
	2.27 2.19
$10(2.27) + $07(2.19)= $.38
	3.75 1
(.10) (3.75) + (.07) (1) = .4455

	142
	Problem 1
	Tables x1 ≥ board feet
	Tables x1 ≥ tables

	157
	Policy 3, middle of page
	Maximize z= 120x1, + 80x2 + 150x3 + 40x4
	Maximize z = 120x1 + 105x2 + 150x3 + 73x4

	
	Sales volume constraints
	250, 300, 200, 600
	200, 150, 100, 400

	
	Machine hours constraint
	2x1 + 1x2 + 2.5x3 + .75x4
	2x1 + x2 + 2.2x3 + .75x4

	163
	Example 4-2
	No more than 1.260 calories
	Nor more than 1260 calories

	165
	Example 4-3, 5th line from bottom
	-.2B
	-.02B

	166
	Example 4-4, 8th line from bottom
	8x11
	.8x11

	168
	First ingredient constraint
	-.05x
	.05x

	170
	Constraint number 7
	-.6
	.6

	183
	Solution
	X2 = 2000
Z = $6,274,000
	X2= 2600
Z = $6,574,000 

	184
	Example 4-10, Middle of page
	X1 ≥ 2
X2 ≥ 2

X3 ≥ 2

X4 ≥ 2

X5 ≥ 2

X6 ≥ 2


	X1+X6 ≥ 2
X1+X2 ≥ 2

X2+X3 ≥ 2

X3+X4 ≥ 2 

X4+X5 ≥ 2

X5+X6 ≥ 2

	280
	7 lines up from bottom
	100 cubic inches
	100 cubic yards

	359
	Problem 13 (5th line)
	weekly fuel requirements
	monthly fuel requirements

	381
	6 lines from top
	$K$ 751
	$K$7=1

	
	7 lines from top
	$K$1351
	$K$13=1

	
	8 lines from top
	$K$8: $K$1250
	$K$8: $K$12=0

	429
	Middle of page
	Z=(1/3)(7)3-5(7)2+100
	Z=(1/3)(7)3-5(7)2+21(7) + 100

	
	Middle of page
	Z=114.33-245+100=30.6
	Z=114.33-245+147+100=116.333

	664
	Top of page
	e=Eulers constant=2.71828
	e=base of the natural logarithms=2.71828

	675
	Example 13-3
	one-sevicer system
	one-server system


